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1 TSHES 2:03.00 1:25.00 1:25.00
2 A —= 01:33.0 02:00.0 1:33.00
3 A 2:09.00 1:33.00 1:33.00
4 EIGRE 16 1:33.66 1:33.66
5 PE WHE 1:42.66 1:564.72 1:42.66
6 HIZEEK 1:49.00 10 1:49.00
7 e ERE 2:03.00 2:04.00 2:03.00
8 XEF— 2:55.00 2:06.00 2:06.00
9 =/RA %A 2:12.00 2:41.00 2:12.00
10 =) #E 14 19 19
11 BURIKIE 15 17 17
12 £H & 16 16 16
13 Y& O 12 5 13 15 15
14 [RE EAt 10 13 13
15 BUK&ERK 13 8 13
16 ERER 6 12 12
17 XE nE 12 5 12
18 Kk B 11 12 12
19 EEESERS 8 11 11
20 AR RS 10 10 10
21 REER 3 10 10
22 EIRAE-J 9 5 9
23 LI BRRK 8 8 8
24 FUE 5 8 8
25 INB R E 2 8 8
26 INEFER I 7 6 7
27 EBEK 7 5 7
28 28 A 0 7 7
29 1 ERPN 0 6 6
30 KiEEBE 5 6 6
31 IALRE 6 0 6
32 HEER 5 1 5
33 FRE 5 4 5
34 SEEIR 0 5 5




